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l. (a) State True/False with reasons: (4)

(i) A dedicated server acts as both a server

as well as a client.

(ii) The TCP part of TCP/IP protocol divides
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the message into smaller packets. d qfla-a dfrvr
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(iii) fi-{ o@rr s< s@{ {M sfu yqrfr d
s-eFfe q'm * * c+{{ur * fts ffi i}r

cci-{€r + rgqa Br

(iv) fttr+e tefts ft€c i Eff iltuor + Rrir- d
vqr ql yRhDe q'r& Br

61 ffikr R-ft rqrA d 1ffi vrgm rrd t
dhs: (s)

(i) yo. qqr*{ H tqR + frs _ Bft

cr sq+rr 6'adr *r

(ii) vo S{ts( t-qn * fr {f, qt{r d
dEf, {asr +€d}+ ftq frcc-ilqrR{ vcmfu{

qr gq*rr 6"rdr *r

(iii) Green computing refers to the computing

policies and practices that are environmentally

responsible and eco-friendly.

(iv) Degree in a relational database system

represents the number of columns of the

table l.

(b) Fill in the following blanks with appropriate

words : (3)

(i) A wireless network uses and

for communication.

(ii) 

- 

is a secure communication that

uses rule-based algorithm to transform

original message unto a coded message.
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(iiD 
-..............- 

is the ability to run multiple

operating systems on a single computer

system simultaneously.

What is a distributed computing system? Explain the

benefits it provides as compared to centralized

computing system. (6)

Or

What is the role of a proxy server in a network?

Explain. (6)

3. What are the objectives of networking? (6)

Or

What do you mean by cloud computing? List down its

unique features. (6)
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4. How is database system better than file system?

Or

Explain the following types of relationships with

example: (6)

(a) One-to-one

(b) One-to-many

(c) Many-to-many

(r) wur qBd r&/.rird ffiIg: (r)

(i) co' {cff( r{t, T{t *{ ffirrc ffi * w S

qr4 o'rn *r

(ii) fi0ff/srifi ffi qr fifrfi frRr *t{r *
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